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A= oerda SA o AR
. A2 3HI(ARI )
=l Jl=3H| (SH9 H2)
= % ol (5 = dEs =
A= 24 - Z3H - GHA(E) - MFAY - BES Ofl &2y Ol &bt ] ImE=r",
01 At 2teltl 19,176 21,288 A2,112
OJlz=8tl 7,824
(ORI —t=1=ia] 11,352
202 04t 36,720 40,800 4,080
01 2oL 36,720 40,800 4,080
OJl=0ddl 36,720
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A £ 0 & A

20243 =0lloh LB THHOHM A 2024-02-01 16:12:41

Al A

AT TorE Al A R
Tl o =7
Cel: THCHED A=l (SH9 H2)
AR SA . O(BH) - HRAY - BAS ofl b dE= HDS2
d= - FA - 35 = g . 0l & =
PNRPN =l 320,426,357 219,473,585 100,952,772
= 84,852,456
= 80,584,000
S 1,050,000
= 153,939,901
Mooy & =532 206,775,578 109,386,402 97,389,176
= 77,791,992
ra 79,079,000
& 49,904,586
THHCHHD HIE =8 41,456 43,356 A 1,900
THit2ted ZHT} - HEMN ME 17,100 19,000 A 1,900
201 LE2AHH| 17,100 19,000 A 1,900
01 AtR2t2lbl 17,100 19,000 A 1,900
OXATHREYE E=lsed M 3,150
OTHLHH] Eol=e™ M 8,100
OMY=HEAMS ME 5,850
Mt | 2K 11,400 11,400
201 LBt AH| 10,200 10,200
01 AtR2t2lb| 3,000 3,000
OMt2e| =8 S| 3,000
02 85249l 7,200 7,200 0
Ot 83322 1,200
Ogt=2 g s A3yl 3,000
Ost=3otdE 3 H3ld| 3,000
203 YR =&IH| 1,200 1,200
03 AIZHF=EHR2=KRIH| 1,200 1,200
OMt2e| PR =R 1,200
MoHRA XS ataze 83 =8 12,956 12,956 0
201 LBt AY| 12,956 12,956
01 AFR2telt| 10,476 10,476
Oxg Xz 9,99
Oxg NETZ SHE 480
02 S324H| 2,480 2,480 0
Ox sda 2,480
Moy & sX2te| 542,278 1,127,946 A\585,668
= 150,000
& 392,278
T &2 6,120 6,800 680
201 LEt2AH| 6,120 6,800 680
01 AFR2teltl 6,120 6,800 2680
OXH e EEs Xd S 2,020
OXATHL o 22X HIE 900




A2 THLIOIE AL EAM ¢ KA

3 Jeoeg € s+
Rl Mo 2 =2l EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
OXTotM =2t ol S SXIJ (ZAEH ME
s) 3,200
AATHECHE] 28 2 WS AAl 6,400 6,400
201 er=23y| 6,400 6,400
01 AtR2t2l] 6,400 6,400
OXATHL ] =& 3,800
Og s 2,600
=L AIsENHHHEES 2 12,758 11,946 812
307 2Ito1d 12,758 11,946 812
02 LB HAHE L 12,758 11,946 812
OXtsge 24 12,758
Al NS XA 25,000 22,800 2,200
308 AHXIEMSOIH 25,000 22,800 2,200
01 HAHHBSEEXS 25,000 22,800 2,200
ontis Sazed 22,000
OllcHadd S A2 3,000
Z+0H28 297,000 300,000 23,000
201 Ler23 | 15,000 18,000 23,000
01 At2t2ltl 15,000 18,000 23,000
OS=oi2Et E22 M 15,000
308 AXIMS0IA 282,000 282,000
01 XN BSELES 247,000 247,000
OS=+l=2E At 247,000
13 SO [2SOHE B & EAS A 35,000 35,000 0
OS=oi28lty 88 212 35,000
e FHATZ UHSIHHAE EXIAY 195,000 780,000 585,000
= 150,000
< 45,000
403 AXIEHMSAH=01 195,000 780,000 585,000
= 150,000
< 45,000
01 AXISHHA 22 £ 195,000 780,000 585,000
OF+2d FHAZZ NUSIUHHAIE XA 195,000
= 150,000
[ 45,000
K Rk DSt 118,734,230 108,215, 100 10,519,130
z 79,079,000
< 39,655,230
THoH A S X+ FHIA 73,983,300 54,186,500 19,796,800
= 49,321,000
< 24,662,300
202 Ot 1,800 2,000 2200




2

X XH -
o=

=aak

2-

= .

THLrorE Al
THerol 2 =7
THoH I & X2 F |

A2 2N BB O9(3H) - HRAY - BES Ofl by A =2

01 =LHO4 L] 1,800 2,000 A200
ORI X7 ALY F=&A 1,800

403 REXIHNSK=0|H 73,981,500 54,184,500 19,797,000
Fay 49,321,000
= 24,660,500

01 AEXI XA =22 X 73,981,500 54,184,500 19,797,000
OMoHHE X7 FUIAI 73,981,500
= 49,321,000
& 24,660,500

S3AK SUAE XD FHIAY 10,271,930 12,123,100 21,851,170
g 6,847,000
T 3,424,930

202 0441 1,430 1,600 170

01 ZLHOdHI 1,430 1,600 A170

OZZAA SWREX S FUIAMY =&

]l 1,430

403 RIXIHASK=01H 10,270,500 12,121,500 21,851,000
= 6,847,000
& 3,423,500

01 AIXISHH 22X 10,270,500 12,121,500 21,851,000
SEAK SUREXNSE & 10,270,500
rag 6,847,000
= 3,423,500

Mo M=a=Xl EEIA 1,294,500 3,283,000 21,993,500
Fay 863,000
= 431,500

403 REXISHHIS K201 & 1,294,500 3,288,000 1,993,500
= 863,000
& 431,500

01 AEXISHXM A 22X 1,294,500 3,288,000 1,993,500
OMoHAE M=Kl ZHIAIS 1,294,500
= 863,000
& 431,500

S0 MeERH SSFHIAY 32,734,500 38,617,500 5,883,000
s 21,823,000
T 10,911,500

403 REXISHHS K201 32,734,500 38,617,500 5,833,000
Fay 21,823,000
= 10,911,500

01 AXIHANA2EE 32,734,500 38,617,500 5,883,000
OZ=off M3 SSHUIA 32,734,500
21,823,000

SRR

10,911,500

—




A=
X{XH -
[ I

N i=gedgSE= A AT

ol 2 =3

=ny BN [ Ry k= PARRP<tal (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
SEAK AEHZAL S 450,000 450,000
= 225,000
= 225,000
401 AIEHIZ 2018 450,000 450,000
s 225,000
& 225,000
01 AlEHI 450,000 450,000
OSZ AKX AEiZA 24 450,000
s 225,000
& 225,000
THoH = At 87,457,614 87,457,614
= 77,641,992
= 9,815,622
7.9.~19. S2TIoH SPAIL (KoM ) (BE L) 11,642,539 11,642,539
= 11,642,539
403 XIS MS 201 11,642,539 11,642,539
= 11,642,539
01 AR AH22 £ 11,642,539 11,642,539
07.9.~19. S2TIcH S2AS (RIgot=) (2
<) 11,642,539
= 11,642,539
7.9.~19. ST SPAIL (L6HR) (M) 47,459,713 47,459,713
= 47,071,707
& 388,006
403 XX SHHSA=01H 47,459,713 47,459,713
= 47,071,707
& 388,006
01 AXSHHAEER 47,459,713 47,459,713
07.9.~19. SRTIH STPAIL (L0 ) (HHR) 47,459,713
= 47,071,707
& 388,006
7.9.~19. S2RTIoH SPAIL (SO JIEIAIA) 2,803,655 2,803,655
= 2,786,573
& 17,082
403 XX SHHSA=01H 2,803,655 2,803,655
= 2,786,573
& 17,082
01 XEXISHHI A= 2 2 2,803,655 2,803,655
07.9.~19. SRTIcH SPAH (A2 JIEHAIA
) 2,803,655
= 2,786,573
& 17,082
HEA T=2AILEOHA) 11,345,000 11,345,000




A MUerEA A TFATHE
3 Jeog € s+
CHl: THoHSPALY (SH9 H2)
AR 2N - B S2(3H) - NRAY - BES ol &b o4 A ClImE=T]
= 6,034,500
< 5,310,500
401 Al&BIL S THYI 11,345,000 11,345,000
= 6,034,500
& 5,310,500
01 AlZHI 11,335,000 11,335,000
OYHEE THH=SRAIS (OHH) 11,335,000
= 6,029,500
< 5,305,500
03 A& S CHYI 10,000 10,000
OZEEE THH=ERAIE (OHA) 10,000
= 5,000
< 5,000
glld THoH=SFAIL (&) 14,100,000 14,100,000
= 10,053,320
(= 4,046,680
401 AlEBIYL S THYI 14,100,000 14,100,000
= 10,053,320
< 4,046,680
01 Al&HI 11,790,000 11,790,000
O3IIE THHE A (HA) 11,790,000
= 8,505,110
< 3,284,890
02 2teld| 2,300,000 2,300,000
O™ THOHS AL (OHA) 2,300,000
= 1,541,510
< 758,490
03 A& S CHYI 10,000 10,000
O3IQIE THHS AL (HA) 10,000
= 6,700
< 3,300
SZE WH=SFAEOIS) 106,707 108,707
= 53,353
< 53,334
401 Al&BIL S THYI 106,707 106,707
= 53,353
< 53,3%4
01 AlZHI 105,707 105,707
OsZd Mal=7AL(OIS) 105,707
= 52,853
[ 52,854
03 A& S CHYI 1,000 1,000
O&Z&E MHAH=EFAE(OIS) 1,000




Al THLAOHA A EAM ¢ KA
= Qoo 2 =7
=S Mol STA (SH9 H2)
AR HA - HH . O(H) - HRAY - BES ol by dE= MimE=EY
d=-FA - 3% = g = 0l &+ =
= 500
& 500
NARSIAGIAEE TS 85,617,364 85,985,000 N367,636
= 7,060,464
rag 1,505,000
A 1,050,000
= 76,001,900
o= XHoH Ol 2 AL 72,776,000 71,130,000 1,646,000
CHEA CHE X2 Kot EHIAMSL (HEALY) 6,085,000 6,500,000 415,000
401 A& H|ILE0HY] 6,085,000 6,500,000 415,000
01 Al&HI 5,850,000 6, 150,000 300,000
OUNEA HEXIF XLt EHIAIS 5,850,000
02 Zeldl 230,000 350,000 120,000
OUN™EE HEXI7 XIZotE YA 230,000
03 A& 20HYI 5,000 0 5,000
OUEA HEXIF XIYotEEHIAIS 5,000
AU AU K 2ot B AN (M EAL) 800,000 3,810,000 3,010,000
401 A& H|I L E0HY] 800,000 3,810,000 /3,010,000
01 Al&H| 699,000 3,558,000 A2,859,000
OAEd A X7 XIZotEEHIAS 699,000
02 2eldl 100,000 250,000 150,000
ONdd SYX7 XIZotE YA 100,000
03 Al 20HYI 1,000 2,000 A 1,000
O&Yd AT X2ot& AL 1,000
JIEA JIAXI P KIS ZHIAFS (HEALY) 3,000,000 3,000,000 0
401 AlEH|IZL L2 C0HY] 3,000,000 3,000,000 0
01 Al&H| 2,648,000 2,748,000 100,000
OJHEA JIEXF XLotE™EHIAS 2,648,000
02 2eldl 350,000 250,000 100,000
OJHE& JIE X+ XLt ™Y ALY 350,000
03 Al 2CHHI 2,000 2,000 0
OJHEA JHE X+ Kot EBIANS 2,000
SHHE SHHIXI T KI2ot™ EH|AF (M EAFY) 8,361,000 10,000,000 1,639,000
401 AIEHI L 204 8,361,000 10,000,000 1,639,000
01 Al&HI 7,945,000 9,600,000 A 1,655,000
OstHIAE SHAXIF? X -HIAIS 7,945,000
2 22| 413,000 400,000 13,000
OStAHIA SHAIXIF Xt EHIALS 413,000
03 Al 2 0HHI 3,000 0 3,000
OstAHIA SHAIXIF Xt EHIALS 3,000
OHHA OHHXIT KISt EHIAIS (HEAY) 2,200,000 2,000,000 200,000
401 AIEHIZL 204 2,200,000 2,000,000 200,000
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A2 ToerE Al A TS
SRS HPN St FSEel BhFol B R s
Sl SHE THOH Ol 2 ALY (SH9 H2)
4224 - B B9IEH) - AIRAY - B of v G o HIDE2
01 Al&HI 1,816,350 1,892,800 NT6,450
OCHHAE CHHXIF XIotE EHIAS 1,816,350
02 Zeltl 380,000 100,000 280,000
O™ HHXI= XIZotE Y| ALE 380,000
03 AlESTHYI 3,650 7,200 23,550
OCtUE CHHXI7 XI'Yotd HHIALE 3,650
ZEA SL2X 7 XLoHE ZHIAIG (HEALY) 7,080,000 8,900,000 21,820,000
401 Al HIZL S 0HYI 7,080,000 8,900,000 A1,820,000
01 Al&HI 6,963,000 8,497,000 1,534,000
Oddgd S22+ Kot A 6,963,000
02 Zeltl 114,000 400,000 286,000
OFEd S22+ Kot HHIA 114,000
03 AIE R 0HHI 3,000 3,000 0
OZEH 2k 7 NgotE AL 3,000
A0 AWXIT XL EHIAI (M EHALR) 2,000,000 1,500,000 500,000
401 AIEHIZ SR HYI 2,000,000 1,500,000 500,000
01 Al&HI 1,995,000 1,498,500 496,500
(OENCESRENV:PNESNE=1xel FSkSla PN doa 1,995,000
03 Al 20HHI 5,000 1,500 3,500
OA0E 20X+ Xgotd ZHIAS 5,000
AOIZ=E ALOIZRI7 XLt EHHIAI (M EALY) 4,000,000 4,000,000 0
401 A& HIX R0 4,000,000 4,000,000 0
01 A28l 3,598,000 3,597,000 1,000
OAIOI=& ALOI=XI+ Xl2ot& EHIA 3,598,000
02 Zeltl 400,000 400,000 0
OAIOI=& ALOI=XI+ XI&otE EHIA 400,000
03 Al< S THHI 2,000 3,000 A1,000
OAROI=E AFOI=XI7 XIgotd EHIAE 2,000
SEA 22X 7 XLotEEHIAI (M EALS) 5,000,000 2,000,000 3,000,000
401 Al HIZL 2018 5,000,000 2,000,000 3,000,000
01 Al&H| 4,614,350 1,889,200 2,725,150
O2Fd 22X+ NgotAZHI AL 4,614,350
02 Zeltl 380,000 100,000 280,000
OE2Fd 22X7 NYotAZHIALE 380,000
03 Al 20HHI 5,650 10,800 25,150
O=EFEd 22X+ NYotAEHI ALY 5,650
S 22X T XYoot FHIAI (D EALY) 2,150,000 4,420,000 A2,270,000
401 Al HIZL 201 2,150,000 4,420,000 A2,270,000
01 Al&H| 2,000,000 4,017,000 22,017,000
OSd =X+ XdotEEdIAr 2,000,000
02 Zeltl 150,000 400,000 /250,000




ESE ([ELIFSEN SA R TH
SECEISESRET R B
Ch2: O THOH Kl ALY (SH9 H2)
AT RA B B(B) - NRAY - BES 0l a0t Ce = D=2t
SErTArSRt T == B Ofl r =e
| Os& 2317 NYsIHEHIAL 150,000
SotE BXT NLGHETHIA (HEALY) 3,700,000 2,000,000 1,700,000
401 AIEHILL | 3,700,000 2,000,000 1,700,000
01 AlZHI 3,265,000 1,706,000 1,559,000
083t 837 XILGHEFH A 3,265,000
02 2218 430,000 290,000 140,000
251 25X XL EY A 430,000
03 A& S 01| 5,000 4,000 1,000
251 23T XNLIHEH AL 5,000
SUH 28X KGR T A (HEALY) 3,000,000 2,000,000 1,000,000
401 AIEZHILL 0| 3,000,000 2,000,000 1,000,000
01 Al 2,797,000 1,894,000 903,000
OSYd 27 XILHE T A 2,797,000
02 228l 200,000 100,000 100,000
OSYH 2T XILHEFHIAY 200,000
03 Al& S CHY| 3,000 6,000 A3,000
OSYH 2B XILsHE T A 3,000
SILA SIEXI R KIZGHE MU A (RBALY) 8,600,000 2,000,000 6,600,000
401 AIZHILE | 8,600,000 2,000,000 6,600,000
01 Al&H 8,042,000 1,746,000 6,296,000
OSIEA SHEXIT XIL6HEEH A 8,042,000
02 22/b| 550,000 250,000 300,000
OSIER X7 XIZ6HEFHI A 550,000
03 Al& S CHE| 8,000 4,000 4,000
OSHER SHEXIT XIoHEFHIAY 8,000
DIS® SMBXT XLoHE SHIA (M EALY) 4,000,000 2,000,000 2,000,000
401 AIZHIL L] 4,000,000 2,000,000 2,000,000
01 Al&ZH 3,593,000 1,695,000 1,898,000
O0I&& ST XIL6HEEH A 3,593,000
02 22/t 400,000 300,000 100,000
O0I&& ST XIL6HE T A 400,000
03 Al&SCHY| 7,000 5,000 2,000
O0I8& ST XILsHEFHA 7,000
RATE RAGT|T XILSHETHIAI (HBAL) 4,500,000 2,000,000 2,500,000
401 AIZHIL L] 4,500,000 2,000,000 2,500,000
01 Al&ZHI 4,093,000 1,696,500 2,396,500
ORISR BT XI5 EH( A 4,093,000
02 2218 400,000 300,000 100,000
O/ BT XIL6HEFH( A 400,000
03 Al&SCHY| 7,000 3,500 3,500
O/ BT XILGHE T A 7,000
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A= THHOHE A A TFATHE
3 GAZSEold S s
Ch2: O THOH Kl ALY (SH9 H2)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
UEE WAXIT XILotE ZHIAN (M EANY) 2,000,000 2,000,000 0
401 AlEBIYL S THYI 2,000,000 2,000,000 0
01 AlZHI 1,800,000 1,896,000 296,000
OUEE WaX7 XYotE S| A 1,800,000
02 2eld| 200,000 100,000 100,000
OUEE W&X7 XL FHHI ALY 200,000
HEH HEX7 XILOIEEHIAI (M EHALR) 3,500,000 500,000 3,000,000
401 AlZBIL S THYI 3,500,000 500,000 3,000,000
01 AlZHI 3,148,000 394,000 2,754,000
OAHeid HelXl= NYotA EHIALY 3,148,000
02 Zeltl 350,000 100,000 250,000
O d HelXl= NgotAEHIALS 350,000
03 A2 2 0HYI 2,000 6,000 24,000
ONEHE HEXT NLSHAFHHIALY 2,000
ot A Ot X7 KIEotE FHIAI (M EAL) 1,500,000 500,000 1,000,000
401 AlEHIYL S THYI 1,500,000 500,000 1,000,000
01 Al&HI 1,294,000 397,000 897,000
Oetgd otg X7 XIegotd EHI AL 1,294,000
02 Zeltl 200,000 100,000 100,000
Oetgd etg X+ XYotA HH| ALY 200,000
03 A& SHYI 6,000 3,000 3,000
Oetgd etg X+ XYotA EHI ALY 6,000
28 X7 KLt ZHIAI (D EALY) 500,000 500,000
401 AlEHIYL S THYI 500,000 500,000
01 Al&HI 499,000 499,000
O2d =2X+ Kot HHIAY 499,000
03 A& S CHYI 1,000 0 1,000
OS8d =&X+ XgotEEHIAY 1,000
H=E 031X F NLSHAZEHIAIS (D EALY) 500,000 0 500,000
401 Al&BIL S THYI 500,000 500,000
01 Al£ZHI 499,000 499,000
O0=& 0=1X+ Kot HHIA 499,000
03 Al&SHYI 1,000 0 1,000
ON=& 21X+ XYotE HHIALY 1,000
AU JEX7P KLt FHIAI (M EALY) 300,000 300,000
401 AlEHIYL S THYI 300,000 300,000
01 Al&ZHI 299,000 299,000
Ogded X7 XLt EHHIALY 299,000
03 A& SCHYI 1,000 0 1,000
Ogdd X7 NYotAHHI ALY 1,000
St EBIDlgt= 830,000 1,661,000 831,000
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D Moerda
NAZRISHEGHE A LA
SRR RS ol /)
2.2 BE - OR(3H) - HIRAY - BAS 0 &t A HlRE2
StEJIZ2H &+ 830,000 1,661,000 A831,000
401 AIEHIZL 28I 830,000 1,661,000 A831,000
01 Al&Hl 825,000 1,654,040 A829,040
OstaJ|=H 248 825,000
03 Al S CHHI 5,000 6,960 21,960
Ost&J|I2H &+ 5,000
R 22| AF 12,011,364 13,194,000 A 1,182,636
= 7,060,464
s 1,505,000
E~ 1,050,000
= 2,395,900
KISt K22l ALY 1,500,000 2,000,000 A500,000
403 XX SHMS K201 1,500,000 2,000,000 A500,000
01 MXIStH 22 £ 1,500,000 2,000,000 A500,000
OX ot R X 2| At 1,500,000
StEsXl2telF=8 Fa+=Zh| 23,400 26,000 22,600
201 Lt | 23,400 26,000 22,600
01 At 2telt] 23,400 26,000 A2,600
Ogutdal~=ZH| 23,400
SIIotE S A 22| AL 7,060,464 5,847,000 1,213,464
= 7,060,464
403 XX SHHSA=01H 7,060,464 5,847,000 1,213,464
= 7,060,464
01 XX SN AG=E X 7,060,464 5,847,000 1,213,464
OZItotd I X 2e| At 7,060,464
= 7,060,464
Xgotd DI=8X B4 755,000 1,506,000 A751,000
401 AlEHIZ 20| 755,000 1,506,000 A751,000
01 Al&HI 750,000 1,500,000 A750,000
OXgsta 022X 24 750,000
03 AIE 2 CHHI 5,000 6,000 A1,000
OXILste 022X 24 5,000
212 S EHIAY 117,500 250,000 A 132,500
403 XX SHHSA=01A 117,500 250,000 A132,500
01 X SHH =2 E xR 117,500 250,000 A132,500
O27E St ZHIALE 117,500
20t NS =RAHSAIAE 1,505,000 1,855,000 A350,000
s 1,505,000
403 XX SHHSA=01H 1,505,000 1,855,000 A350,000
= 1,505,000
01 AtXIEtH A2 £ 1,505,000 1,855,000 A350,000
OLotE Xts =FIHAZA 1,505,000




JRISEIE N
NAZRISHEGHE A LA
ot = X2l Ak CHe M)
2. 2A - FB . O9(BH) - HRAY - BAS A HimE=T

| = 1,505,000

S THoHOIZ AL 200,000 0 200,000
EN 200,000

403 XX SHHSK=01A 200,000 0 200,000
EN 200,000

01 XISt AH22 £ 200,000 0 200,000
SaA THoHH A 200,000
N 200,000

X THOHOI AR 250,000 0 250,000
N 250,000

403 XX SHHSA=01A 250,000 0 250,000
EN 250,000

01 XX SN AH=E X 250,000 0 250,000
ORER THoHHIZHAL 250,000
EN 250,000

LA THOHOHI AL 300,000 0 300,000
N 300,000

403 XX SHHSA=01H 300,000 0 300,000
EN 300,000

01 MRSt AH22 £ 300,000 0 300,000
OZEE THoHHI AL 300,000
EN 300,000

YA THoHH A 100,000 0 100,000
N 100,000

403 MRS HS K201 100,000 0 100,000
EN 100,000

01 MtXIEtH 22 £ 100,000 0 100,000
O2YE THoH M2 AL 100,000
EN 100,000

=EA MoHo A 200,000 0 200,000
EN 200,000

403 XIS MS K201 200,000 0 200,000
EN 200,000

01 XIXISHAH=E X 200,000 0 200,000
OZ =& THol M2 AL 200,000
EN 200,000

StEAEZ =22l 680,000 785,000 A 105,000

StEIAMNEZE LR 680,000 785,000 A 105,000

oA EEETNEF 680,000 785,000 105,000

308 AXIHMISOI & 680,000 785,000 105,000

(2P S B = 680,000 785,000 A 105,000
OolEMNERE LRSS 680,000




A= MueerdA A KFATH
M HAPAZH|(KHTHL D)
chel: J|= 2| (ool )
U RA B EI(E) - MRAEY - BAS ofl &t G o HIDEZ
HY S SHI(ATH D) 58,225 64,675 26,450
=38l 58,225 64,675 26,450
JI=23Hl 58,225 64,675 N6,450
201 fer= 3| 19,975 22,175 A2,200
01 At 2t 19,975 22,175 A2,200
OJlz+=EH| 8,150
OJ 2=l 11,825
202 04l 38,250 42,500 A4,250
01 =LHAHI 38,250 42,500 A4,250
OJ1=204tl 38,250
HL2S (X ) 27,295,190 23,252,508 4,042,682
LHRAHHXIE 27,295,190 23,252,508 4,042,682
LHRHHX = 27,295,190 23,252,508 4,042,682
UVAPI=ESE—4=1 15,048,450 13,191,440 1,857,010
UIPIETSE—S 15,048,450 13,191,440 1,857,010
ONt2eDI=dES 15,048,450
705 Ol==2dcl=aE 12,246,740 10,061,068 2,185,672
03 Al - XD IS0~ 8,004,300 6,794,300 1,300,000
O=ol &SNS AL (2011) 1,200,000
O==oH &S XIIN & ArR (2012) 1,000,000
O &SI A (2014) 1,000,000
O=aHASXIMHL A 2Kt X+&H2010) 370,000
OZ=ol &SNS AL (2015) 1,000,000
O=ol &S XIS AL (2016) 1,224,300
OXIstE A HIAF (2017) 1,000,000
OXIotE HHIAI (2018) 1,300,000
04 Al - SXISHE DS 0l=S 01 Ktafst 4,152,440 3,266,768 885,672
OZ=ol ASXIHE AL (2011) 126,000
O=ol &SNS AL (2012) 140,000
O==oH &SI AL (2014) 180,000
O=HASXINSALY 2K XH2H(2010) 22,200
OZ=ol A& XIHE AL (2015) 210,000
O==ol &SNS AL (2016) 244,860
OXIZat&HHIArE (2017) 180,000
OXIZat& HHIArE (2018) 260,000
OXIotE HHIAF (2019) 300,000
OXILoHE EHI A (2020) 200,000
OsUlcH= A (7.28-8.11) 233,000
OXIZat&HHIArY (2021) 800,000
OXI et Iyl (2021) (WA, B Z ™, K| L5
SAZe|Are) 92,000
OXIf252% THoH 0l ZHIANS (2021) 80,000
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A= JHHOHMA Mot RFATH S
M WRS(XAM )
&2l WRHHXS (CH9): &S
2 - IE
AR R4 - B SAE) - HRAY - BES ol ke e HmES]
02023 Xlotd EHIAY 1,024,200
02023 Xgotd DI=2EX 24 60,180
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